Name:

Proving Parallel Worksheet

Directions: Given the figure to the right, describe if a // b or m // | based on the information provided.

1.<3=<13 // because

2.<3 =<7 // because

3.<7 = <10 // because

4.<12<13 // because

5.<6 =~ <9 // because

6.<3+<14 =180 /! because

7.<2 +<5=180 // because

g h

8. Given: g// h, <1 = <2 ;

Prove: p// r /

1 1 3
Statements Reasons P
1. g//h 1.
2.<1=<3 2. r

Z
3.<1=<2 3. / /
4, <3>2<2 4,

5 5.

9. Given:n// m and <1 ~<2

Prove:p//r n m
Statements Reasons

\1 \ b
1. n//m 1. 3

2.<1~<3

2.
3. <1< 3. r
4, <3~<2 4, \ \

i




10. Given: g// r, <1 and <4 are supplementary

Prove: p// q

Statements Reasons
1. 1.
2.<1+<4=180 2.
3.<3+<4 =180 3.

4. <1+<4=<3+<4 4,

5. <1 ~<3 5.

6. 6.

11. Given: <2 and <8 are supplementary

Prove: m// n

Statements Reasons
1. 1.
2.<2+<8=180 2.
3.<2+<4 =180 3.

4. <2+<8=<2+<4 4,

5. <8 =<4 5.

6. 6.

4

B




Name:

Proving Parallel Worksheet

Directions: Given the figure to the right, describe if a // b or m // | based on the information provided.

1.<3=~<13 .J, // Y¥\_ _ because g(ﬁm‘"r" LS 'ﬂ)r*m,// [.'n(?..& b

2.<3~<7 (& // b hecause = Cory. LS 'Q)rm // //'ﬂff

3.<7=<10 /i because —- O b AL IAYTRAS /)

4,21 =13 BJQ // Y1 because & olt. €t LS form l/!ir\ €

5.<6 22 <9 /N because - L (1.

6.<3 +<14 =180 j /] M because_&_u\#ol. Con. int. LS (l)fm //

7.<2+<5=180 QL // k) because SLLT'g'u_,rf . Con. | nt+ L3 ﬂfi)(‘(vl /./ /"”CS

a h

8. Given: g// h, <1 =<2

Prove: p// r .
[ " &
Statements Reasons ‘ ‘ P
1. g//h 1. Gziven
2.<1=<3 2.//1in€3 hrm Y : ~ r
3. <l< 3. (riven / /

4, <3~<2
Q\ JoSH At \Qf\,

1) o~ n - 5 C L Ch o

5' i}‘ (/] k: 5. ./ ()\ C AT, > \"(‘ ) )
V o
A LINES

9.Given: n// m and <1 =<2
Prove:p//r

Statements Reasons \1 \ 5

1. n//m 1. G‘mvcn _ a2

2.<1§j3 2. O SRIAS . 2
W 3. vaer\ -
4,<3~< 4 \ \

Swos¥i fuion




10. Given: g// r, <1 and <4 are supplementary

Prove: p// q

Statements . Reasons
1.9/, <lod@eo o 1. Giiven
2.<1+<4=08 2. delf AL 8

| } \ K24

3(<3+<4F 180

3.// lines form su pol. con. ing LS

4.<1+</4/=<3+< /

4y -

* subsh fution

5.<1 =<3

5. —
Subtvaction 4 )

B P/lg

6. & corr. LS form

) lines.
11. Given: <2 and <8 are supplementary
Prove: m// n
Statements Reasons
1.420004¥ 0AcSupepl. (1. (Hiven

2.<2+<8=0180/

3.2 +<4=180

2. def of Suypepl.

3-\\\ KOO Qe Swpal,
] L

4,.<2+<8=<2+<4

- 22 iR

4.

L2000

5.<8 =<4

5. & :
O LL,L;)’l"Y‘Q C f 14)( &

“w//n

6. &2 corr. LS form
/ lines

A




